
Prawidłowe rozwiązanie: 

 

I RZUT II RZUT RÓWNANIE ROZWIĄZANIE 

  

         

  

        brak rozwiązania 

  

          

  

          
 

 
 

  

                   
 

 
 

  

               

  

             

  

            
każda liczba jest 
rozwiązaniem 

  

              

  

               
 

 
 

  

                         
 

 
 

  

                 
 

 
 

  

          
 

 
 

  

              

  

            



  

              

  

                      
 

 
 

  

               
 

 
 

  

     
 

 
        

 

 
 

  

     
 

 
           

 

 
 

  

     
 

 
        

 

 
 

  

     
 

 
       brak rozwiązania 

  

     
 

 
                

każda liczba jest 
rozwiązaniem 

  

     
 

 
               

  

                

  

               brak rozwiązania 

  

                  

  

                  
 

 
 

  

                           
 

 
 

  

                      

  

    
 

 
          

  

    
 

 
          

 

 
 

  

    
 

 
         

 

 
 



  

    
 

 
             

  

    
 

 
                      

  

    
 

 
           

każda liczba jest 
rozwiązaniem 

 

 

 


